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1. '.ß
ál/É¿ã, b×�Ý^ºÎ�þ, vb×�Ý^º, Í�ð
�ÜbU(0, 100]5µ��¿àÊ	Ý��P, ��100Í.ß, Í¿í�ð+
y21�29 �^£Ý×ì&�

2. 'X, Y
Þ}ñÝU(0, 1)5µr.v.’s, �Z = X/Y�

(i) �OZ�p.d.f., ¬�Jh@
×p.d.f.�

(ii) �OT = 1/Z�p.d.f., ¬�J1/Z
d
= Z�

3. 'bnEG�, Í�bmßi÷, m ≤ 2n��'hmß�i÷, ÛA�2nß�, �
^ãømÍ��ODþÝG�Eó��TÂ�

4. 'X�Y}ñ, XbU(0, 2)5µ, YbU(0, 3)5µ��M = max{X, Y }, m =

min{X, Y }��OP (m2 > M)�

5. 'r.v. X�p.d.f.
f(x) = C(1 + x2)−m, x ∈ R, Í�C, m
ðó�

(i) ���¸f(x), x ∈ R, 
×p.d.f.�mÝP�, ¬E×��3hP��Ým,

OC�Â�

(ii) ��m, �O¸E(|X|α)D3�αÝP��

6. 'X, Y�Ð)p.d.f.
 Cxα−1 yβ−1 (1−x− y)γ−1, 0 < x, y < 1, x+ y < 1, Í� α,

β, γ > 0, v C = (Γ(α + β + γ) /(Γ(α) Γ(β) Γ(γ)) ��O��Y = y, 0 < y < 1,

X�f�5µ�


